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eA-11L Paper / Subject Code: 56301 / Database Management Systems} M "!Y ?-'0 | c’
Pt haes Q.P. Code: 38914 S

(3 Hours) [Total Marks: 80]' s
. N.B.: 1) Question No.l is compulsory.

2) Attempt any three from the rernalmng ﬁve questlons

Write a short note on following (any Four)

1. (a) Roleof DBA RNy i -,;'_ b i, (5)
(b) Weak entity set with example A N ISR ()
(c) Primary and secondary index s P s Vs RS (5)
(d) Transaction state diagram S ol =T = H0)
(e) Differentiate OODBMS and ORDBMS WSS TR ()
(f) Objects, Oids and reference types f"‘_ & o S ' (5)

2. (a A Sai car rental service- 1s acar reniaMhOWroom 'I‘hby oﬂ‘er different types of (10)
car on rent as small car, SUV, MUV Each car has max. seating available and
tariff per km. A system is required t to sth availability of the no of cars of each
type of serving the inquiry. A system should have provision for booking the
car. Before booking customer need to pmwder personal information and driving
license details. Bookmg typlcally stored as booking date, date of rent, duration
and vehicle type. A new transactwn rccord 1s created for each booking.

Draw an ER dzagram for thc case and ajso wnte the schema definition.

(b) Explam Archltecture of DBMS‘ a]on&w;th adVantages (10)
3. (a) -Explam INF 2NF 3NF w:th the he;Ip of example Normahze the below table (10)
GlI3NF. IS S
‘Emp_id. Emp name Mouth | Sales | Bank_id | Bank_name
E01 Davnd “[Jamn 1000 |BoOI SBI
EO1 | James | Feb  [1200 |BOI SBI
. [E02 [Sam  |Jan. 2200 |BOZ | UTI
k. [E03 [Lisa  |Jan  |1700 |B02 | UTI
:5_; =5 wx(b) Discdss thé.:amhitéctu'rq of distributed database system in detail. (10)
4, - (a) 'bcﬁne Mldlmai Cover. Consider the relation R(A,B,C,D,E) and set of (10)
e - " functional dependencies are, F{ A->D,BC->AD,C->B,E->A,E->D} Find
= ~ minimal cover.
(b) Explain tree based indexing and hash based indexing. (10)
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Paper / Subject Code: 56301 / Database Management Systems
Q.P. Code: 38914

What is B+ tree? Consider the following B+ tree; perform following
operations on B+ tree assuming maximum capacity of node as four. -

A. Delete 19
B. Delete 20
e,
) "
slln MIE
/ N P £ et
[z[¥ RGRIrT 19 20 uarfar] | [ss{se] ]

Write a note on 2 phase locking protocol in detail. Explain how it is used to
handle concurrency in database:- -

Explain ACID properties of transaction along with example.
Explain horizontal and vertical fragmentation with example. Also specify
replication types. B :
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5?% _ .:U.T_ / / Paper / Subject Code: 56302 / Java Programming / Ma‘f 9——0 ’a

Q. P. Code. 24277
ce Daseo -
(3 Hours) : LTS ‘{Tofa'l :marka 80]
.B.: (1) Question No. 1 is compulsory.
(2) Attempt any three from remaining five questions. ' fe
Attempt Any Four I S i 1)
a) Javais Platform independent and Archltetture Neutral- Expla!n N sy
b) Spring Framework Architecture - - SN
¢) Compare Servlet Life Cycle with JSP Life cycle T
d) Explain Annotations with suitable exampies e :
e) Explain difference between Abstract classes and Interfaces
. (a) Whatis Multithreading in Java? Write a program 1o demonstrate use of synchr,onlzed 10
keyword. &Ko e
(b) Explain Lambda Expression wnth an example? What are the dlfferent ohjectrves of 10
Lambda Expressions? < - : :
. (a) Whatis the use of Genencs in }ava? Write a genenc class to _represent Stack which 10
implements different data types like integerand/String
(b)  Explain steps to- Connect a java Program to a databaSe usmg ]DBC Add a note on types 10
of result sets. T Gty S ol SRl
L. (a) Explain how ]ava pr;ograrn is made perslstent? Wnte a GUJ program using swing to enter 10
a file name in one textbox and‘\new the contents of thé file it in another text.
(b) What are Packages'-’ Explain accesmbl i y'mo‘drfers m Java with an example. 10
B (3) . _Deﬁne an Exceptloh? Explaln Checked and unchecked Exception. Discuss how user 10
deﬁned exceptions can be 1mplemerited m.lava
{b) D:fferentiate the followmg(any 7y ST 10
- 1) ServletConfig and Serv!etContext
o 2). LinkedlList andArrayL[st : '
RSN ) Statlc and F nal NS _l_,.c-" 7;._5
X [a) What isan Event Lrstener and Adapter classes? Explain the concept of the Anonymous 10
ik ‘inner class with an example. .
< _,(ti) What are Ac’aons in JSP? Explam use of “jsp:usebean” action with a suitable program.add 10

a nofe on MVC \ 7

% 2k % ok ok ok ok ok ok ok ok ok ok Kk
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Paper / S%ect Code: 56303 / Information security

(3 Hours) Total Marks: 80

Question No.l is compulsory. R
Attempt any three from the remaining five qucstlons- S
Answer to sub questions should be answered togethe
Illustrate answers with diagrams wherever necessany
Use of Calculator is allowed. i

Explain Diffie-hellman key exchange algof*thm >3 x
possible attack <

What is mutual Authentication? Dlsc‘ass the problem assoclated thh Mutual'; Pk 5

Authentication

Analyze the various prmc;ples of -Secunty : o &

AC31A4B895B758FBB750071CA0A5B420
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N.B: (1) Question 1 is compulsory. - -" :
(2) Attempt any Three questions out of remaining Five questions,' Sy
(3) Assume any nécessary data, if required, but justify the same.
(4) Figures to the right indicate full marks for that questlorr Fighe:
(5) Use of Scientific calculator is allowed.

Q1 a) Solvethe following LPP using Graphical Meihod: i
Maximize Z = 20x1 + 35x2
Subjectto  3x1+3x2<36
5x1 + 2x2 <50
2x1 +6x2 <60
x1,x220

" [10]

S 'Tkhés' lh"\r'iegk '*--;‘«T:‘\\-T-.‘
ime ~-“qut‘hkefymtlme ﬁé;siniistlc time
y Al
Fi
8
1
14
8

15

A 'zalcukgt\ethé“axpeded variances ‘fc;r gach
- 3.~Find ihe ekp@t'\ted‘pmigct\gﬁmpleteﬂ time
e ﬂ «tatculate fﬁe’brﬁbahiiifﬂhat thepgaject will be completed at least 3
; weeksthan’gipe;teﬂ :
lf the proleq:due date is: vgg’eks what is the probability of not

Solvet\ e tol!owlng LPP gﬂng Simplex Method. [10]
Maxlmgze,«z 2x1‘+ 5x2 r

; _'\3x1\+ X2 <21
PO xL+x259
»ﬂ x220
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Paper / Subject Code: 56304 / Operation Research

b) The Captain of a cricket team has to allot the five middle batting pasmpns to fwe [Ib]- N

Batsmen. The average runs scored by each batsman at these ﬁqsittons are as \&
follows: . SR
Batsman Batting Position =
l I i T O A 5
P 40 40 35 [ O S5
Q 42 30 16 Sl 25 s -
R 50 48 205 60;-3:
= 20 19 P 1&
T I ‘55,;*

Minimize Z= 2X; + 42(;
Subjectto  2Xi+X: 5‘18
3)(1 + 2x1 z 30

e Xi +‘*"2Xz -26 A

b) [10]
Q4 a) [10]
Firm B
Medium Heavy
Advertising | Advertising
5 -2
12 15
14 10
N i v oo ‘Advert:smg
R R Solve thé followmg problem using Dual Simplex Method [10]

o 3xi+x2 +7x3<3
U X1+ 4x2+6x3€5
1,2, %30

R o) : Page 2 0f 3
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F Paper / Subject Code: 56304 / Operation Research

Q5 a)
Year: 2
Maintenance cost 1000 | 1300 | 1700 ;
inRs.: RIS
Resale value in Rs.: | 4000 | 2000 | 1200
. b)
Jobs
M/CM1 |3 |12
| M/cM2 (8 (6
- M/C Maé"*‘ \-~_~'fi 3

3 A 'mall assembjy pfant\aSQambles PCS1hmugh9 mterlmked activities. The time  [10]
) ﬁufqtlon{or Whichdsgﬁrén below.’ I) Drawa Network ii) Calculate total float, free
ﬂa‘at\' dmd pendent&loa A

46 | 58|69 | 78|89
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' mu‘rﬂ / Paper / Subject Code: 56305 / Software Testing and Quality Assurance f MO}ﬂ - 1 Gf A |

ice based -

(3 Hours) Total Marks: 80

N.B.: 1) Question No.1 is compulsory, P
2) Attempt any three from the remaining five questions. AT QA R
3) Answer to sub-questions should be grouped together. ‘ \" ‘

1. (a) Explain the difference between black box and whlte box testmg?

(b) Differentiate between functional testing and non-ﬁmctlonal test:
(¢)  Compare and contrast V model and Wmodel : -; o
(d)  What is testing? How is debugging d1ﬂ‘erent from testmg? M ) )

\,0“'-"

2. (a) How are reviews useful tool for stauc analy31s Exp!am role and respons:blhtles (10)-
of people involved in reviews 2 ;

(b)  What is incident reporting? Explalﬁ mmdent status model £\ ‘ S (10)

3. (® Explain data flow anomalies used to reveal dcfects [dennfy the data e (10)

anomalies in fo]lowmg code, .+ &
double Sqrt(double X) : }, 5
{ double returnValue; -~ R

if(X>00) .”-'} ,;‘._‘“‘a gin

{double W, = 1o ,;_;

while (ABS(W*W«X)> 0!)'

{ . \
W=W. «W*W~X)/(20* W»
} ‘\ \,\' o e ) <"' b ‘N\ ~
retmnValue W R A
. } else = _\17:; .;.7 AN \‘\ ;

remmyalna--'—--o.o-.,.: X
S f-return (retumVaIue)
() Explam the SQA plan n detall?

(10)
s 4\ r‘-(ﬁ) --~‘Draw CFG and calculate stat

; ement coverage, branch coverage and path coverage (10)

S o for the gwen code " g

Be s o S intPQ;
B O S i PO S

R I |

IR P+Q> 100 -

B S T e couss “Large

0 TS TP s 508

AR Cout<< “P Large

(b) Explam the Principles of testing? (10)
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5.

Paper / Subject Code: 56305 / Software Testing and Quality Assurgﬂi&é! ‘

(a) Draw and Explain the Architecture for test Automation?

(b) What are the different test tool selection criteria? Give steps
tool. »

Werite short notes on (any four)

(a) Steps in Measurement

(b) Software Maintenance Activities
(¢) Five Views of Software Quality
(d) Testing Object Oriented System
(e) ISO 9126 characteristics
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